
? 











Find the missing ONE (?)

1 , 2 , 4 , 6 , 10 , 12 , 16 , 18 , 22 , 28 , 30 , ?

(A) 36

(B) 32

(C) 34

(D) 38



Find the RIGHT ONE (?)

MIGRANT , GERMAN PEOPLE , HUMAN 

प्रवासी, जर्मन लोग, र्ानव



Find the missing ONE (?)

IG : RU :: KH : ?

(A) TX

(B) XV

(C) XT

(D) VX



Find the missing ONE (?)

BAD = ROB VAN DAM

TOB = FIT COM BAG

NEC = ?

(A) PAN HET BUC

(B) WON RED CAP

(C) NOT LID COW

(D) LAN HAD HOC



Find the missing ONE (?)

(A) 32

(B) 24

(C) 28

(D) 20

4 5 6 8

92 11

58 37 ? 16



Find the RECTANGLE (?)

(A) 44

(B) 46

(C) 40

(D) 36



Find the missing ONE (?)

DAG : 139 :: AGDH : ?

(A) 447

(B) 436

(C) 582

(D) 437



Find the missing ONE (?)

C D E = 32

B H I = 88

H F D = ?

(A) 72

(B) 96

(C) 84

(D) 48



Find the missing ONE (?)

(A) 1

(B) 5

(C) 9

(D) 3



Find the ODD ONE (?)

(A) TQNK

(B) URNM

(C) VSPM

(D) LIFC



Find the missing ONE (?)

9 * 4 = 39

3 * 6 = 27

5 * 2 = ?

(A) 13

(B) 24

(C) 21

(D) 36



What is the difference between the place value of 9 and 5 of 
the given number .
दी गई संख्या के 9और 5 के स्थान मान में क्या अंतर है।

4 2 8 6 9 3 7 4 5 

A. 99999
B. 89000 
C. 80005
D. 89995 



Find the option which should replace (?)

A. 8
B. 10
C. 9
D. 14



Statements:

No curtain is an element.

All elements are pillows.

Conclusions:

All pillows being curtains is a 
possibility.
Some elements are definitely not 
curtains.

कथन:
कोई पदाा तत्व नही ं है।

सभी तत्व तककए हैं।

कनष्कर्ा: 
सभी कपलो के पदे होने की

संभावना है।

कुछ एकलमेंट कनकितरूप से पदों

नही ंहैं।



Find the missing :-

29 : 13 :: 37 : ? 

(A) 17
(B) 14
(C) 15
(D) 25



Find the missing :-

381 : 614 :: ? : ? 

(A) 343 : 662
(B) 304 : 630       
(C) 242 : 822
(D) 256 : 542



Find the missing :-

13 : 109 :: 25 : ? 

(A) 195
(B) 205
(C) 216
(D) 201


